KEY
I. MULTIPLE CHOICE (8pts)
Mark the letter to indicate the word whose underlined part differs from the others
I.D 2.A
Mark the letter to indicate the word whose underlined part differs from the others in the position of
primary stress

3.A 4D
Mark the letter to indicate the word whose underlined part that needs correction
5. C -> seafood 6. D ->to be tastier 7. D -> widen

Mark the letter to indicate the correct answer

8.D 9.B 10.A 11.B 12.A 13.B 14.C 15.A 16.B

Mark the letter to indicate the most suitable response

17.B 18.C

Mark the letter to indicate the word(s) CLOSET in meaning to the underlined word(s).
19.D 20.C

Mark the letter to indicate the word(s) OPPOSITE in meaning to the underlined word(s).
21.A 22.B

Read the passage and choose the best answer

23.C 24.D 25.B 26.D 27.C

Read the passage and choose the best answer.

28.B 29.D 30.C 31.B 32.A

II. WRITING (2pts)

Finish the second sentences so that it has a similar meaning to the first one.

33. It was a wonderful package holiday with a reasonable price.

34. In spite of being a poor student, Tom studied very well.

35. Rosy said that she had gone to Da Nang the year before, but she hadn’t visited Ba Na Hills
36. I haven’t spoken to her for two years.

Combine two sentences into a new one using the given words in brackets

37. It is interesting to go swimming in the river in the summer.

38. Dave is seriously stressed because he can’t keep up with/ keep pace with his classmates.
39. The director offered him a good job, but he turned down.

40. If Mary had an IELTS certificate, she could/ would apply for the scholarship.



